Name: Class: Date:

Worksheet 13

Solving Word Problems
Solve.

o Lulu arranges 40 chairs into rows.
There are 8 chairs in each row.
How many rows are there?

There are rows.

Ravi buys 24 goldfish.
He puts the goldfish equally into 3 bowls.
How many goldfish are there in each bowl?

There are goldfish in each bowl.
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oA tailor sews 28 buttons equally on 4 shirts.
How many buttons are there on each shirt?

Hannah buys 4 packets of sweets.

There are 10 sweets in each packet.

She then gives away the sweets equally to 8 friends.
(@) How many sweets does Hannah buy?

(b) How many sweets does each friend get?
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